

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Serdica

Bulgariacae mathematicae
publicationes

Сердика

Българско математическо
списание

The attached copy is furnished for non-commercial research and education use only.
Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on
Serdica Bulgaricae Mathematicae Publicationes
and its new series Serdica Mathematical Journal
visit the website of the journal <http://www.math.bas.bg/~serdica>
or contact: Editorial Office
Serdica Mathematical Journal
Institute of Mathematics and Informatics
Bulgarian Academy of Sciences
Telephone: (+359-2)9792818, FAX:(+359-2)971-36-49
e-mail: serdica@math.bas.bg

SEQUENTIAL ESTIMATION FOR COMPOUND POISSON PROCESS, II

VALERI T. STEFANOV

In the present paper all efficient plans of the compound Poisson process, except those which were determined in Stefanov (1982), are found.

The present paper is a continuation of the paper [5]. The terms and notations from [5] will be used without giving again their definitions.

1. Oblique plans. **Theorem 1.** *If the sequential plan (τ, f, h) is efficient for $[a_1, b_1] \times [a_2, b_2]$, then there exist constants $\alpha_1, \alpha_2, \alpha_3, \alpha_4$, such that $\alpha_1^2 + \alpha_2^2 + \alpha_3^2 \neq 0$, $\alpha_4 \neq 0$ and $\alpha_1 k + \alpha_2 x + \alpha_3 t + \alpha_4 = 0$ almost surely with respect to ν_τ .*

Proof. From [5, Theorem 3] follows, that it is sufficient to show, that $\alpha_4 \neq 0$. Let us suppose, that

$$(1.1) \quad \alpha_1 k + \alpha_2 x + \alpha_3 t = 0$$

almost surely with respect to ν_τ . Obviously (1.1) is impossible, when $\alpha_1 \geq 0$, $\alpha_2 \geq 0$, $\alpha_3 \geq 0$, or $\alpha_1 \leq 0$, $\alpha_2 \leq 0$, $\alpha_3 \leq 0$. Then we have the following three cases:

- a) $k = \alpha'_1 t + \alpha'_2 x$, where $\alpha'_1 > 0$
- b) $k = \alpha'_1 t + \alpha'_2 x$, where $\alpha'_1 \leq 0$, $\alpha'_2 > 0$
- c) $0 = \alpha'_1 t + \alpha'_2 x$, where $\alpha'_1 > 0$, $\alpha'_2 < 0$.

Consider the case a). Let $\eta_n := \inf\{t: N_t = n\}$. There exists $(\lambda_0, \mu_0) \in [a_1, b_1] \times [a_2, b_2]$ such, that $\alpha'_1/\lambda_0 + \alpha'_2/\mu_0 := d > 1$ or $d < 1$. Let us suppose at first, that $d < 1$. Let

$$(1.2) \quad Z_n := \alpha'_1 \eta_{n+1} + \alpha'_2 X_{\eta_n}, \quad n = 1, 2, \dots$$

We have

$$(1.3) \quad \begin{aligned} E_{\lambda_0, \mu_0}(Z_{n+k} - Z_n) &= kd, \quad k, n = 1, 2, \dots, \\ D_{\lambda_0, \mu_0}(Z_{n+k} - Z_n) &= E_{\lambda_0, \mu_0}[Z_{n+k} - Z_n - E_{\lambda_0, \mu_0}(Z_{n+k} - Z_n)]^2 = kr(\alpha'_1, \alpha'_2, \lambda_0, \mu_0), \end{aligned}$$

where $r(\alpha'_1, \alpha'_2, \lambda_0, \mu_0)$ does not depend on k . It is easy to see that for each $m > 1$

$$(1.4) \quad \begin{aligned} P_{\lambda_0, \mu_0}\{N_{\eta_m} - (m-1) > \alpha'_1 \eta_{m+1} + \alpha'_2 X_{\eta_m}, N_t \neq \alpha'_1 t + \alpha'_2 X_t \text{ for } 0 < t < \eta_m\} \\ = s(m) > 0. \end{aligned}$$

Let $Z_{n,m} := Z_n - Z_m - E_{\lambda_0, \mu_0}(Z_n - Z_m)$. Obviously for each $n > m$, $m > 1$ we have

$$\begin{aligned} P_{\lambda_0, \mu_0}\{\tau > \eta_m\} &\geq s(m) P_{\lambda_0, \mu_0}\{Z_{m+1} - Z_m < m-1, \dots, Z_n - Z_m < n-m-1+m-1\} \\ &\geq s(m) P_{\lambda_0, \mu_0}\{|Z_{m+1, m}| < m-1-d, \dots, |Z_{n, m}| < (n-m)(1-d) + (m-2)\}. \end{aligned}$$

Further, as in [5, Theorem 3] we get that there exists m_0 such, that

$$P_{\lambda_0, \mu_0} \{ \tau > \eta_n \} \geq s(m_0) P_{\lambda_0, \mu_0} \{ (Z_{m_0+1}, m_0)^2 < (1+A)(D_{\lambda_0, \mu_0} Z_{m_0+1}, m_0)^{3/2}, \dots, (Z_n, m_n)^2 < (1+A)(D_{\lambda_0, \mu_0} Z_n, m_n)^{3/2} \},$$

where $A = \sum_{i=m_0+1}^{\infty} (D_{\lambda_0, \mu_0} Z_i, m_0)^{-3/2} D_{\lambda_0, \mu_0} Z_{m_0+1}, m_0$. Of course, from (1.3) we have $0 < A < +\infty$. From Hajek-Renyi-Chow inequality (see [7]) we obtain that for each $n > m_0$

$$P_{\lambda_0, \mu_0} \{ \tau > \eta_n \} \geq s(m_0)[1 - A/(1+A)] = s > 0,$$

where s does not depend on n . Suppose now that $d > 1$. Let

$$(1.5) \quad \tilde{Z}_n := \alpha'_1 \eta_{n-1} + \alpha'_2 X_{\eta_n}, \quad n = 2, 3, \dots$$

We have that for each k

$$E_{\lambda_0, \mu_0}(\tilde{Z}_{n+k} - \tilde{Z}_n) = kd, \quad D_{\lambda_0, \mu_0}(\tilde{Z}_{n+k} - \tilde{Z}_n) = kr(\alpha'_1, \alpha'_2, \lambda_0, \mu_0).$$

It is easy to see that for each $m > 1$

$$(1.6) \quad P_{\lambda_0, \mu_0} \left\{ \begin{array}{l} N_{\eta_m} + m < \alpha'_1 \eta_{m-1} + \alpha'_2 X_{\eta_m} \\ N_t + \alpha'_1 t + \alpha'_2 X_t \text{ for } 0 < t < \eta_{m-1} \end{array} \right\} = \tilde{s}(m) > 0.$$

Let $\tilde{Z}_{n,m} := \tilde{Z}_n - \tilde{Z}_m - E_{\lambda_0, \mu_0}(\tilde{Z}_n - \tilde{Z}_m)$. Obviously, for each $n > m$ we have

$$P_{\lambda_0, \mu_0} \{ \tau > \eta_n \} \geq \tilde{s}(m) P_{\lambda_0, \mu_0} \{ \tilde{Z}_{m+1} - \tilde{Z}_m > -(m-1), \dots, \tilde{Z}_n - \tilde{Z}_m > n - m - m \} \geq \tilde{s}(m) P_{\lambda_0, \mu_0} \{ |\tilde{Z}_{m+1,m}| < d + m - 1, \dots, |\tilde{Z}_{n,m}| < (n-m)(d-1) + m \}$$

Further, as above, we get that there exists \tilde{m}_0 such, that $P_{\lambda_0, \mu_0} \{ \tau > \eta_n \} > \tilde{s} > 0$ for each $n > \tilde{m}_0$, where \tilde{s} does not depend on n .

From the obvious fact (which for instance follows from the law of large numbers) $P_{\lambda_0, \mu_0} \{ \eta_n > n(1/\lambda_0 - \varepsilon) \} \xrightarrow{n \rightarrow \infty} 1, \varepsilon > 0$, we get that there exists n_0 such, that for each $n > n_0$ $P_{\lambda_0, \mu_0} \{ \tau > n \} > s' > 0$ i. e. $P_{\lambda_0, \mu_0} \{ \tau = +\infty \} > 0$, which implies that the equality (1.1) is not possible.

The case b) can be considered in an analogous way substituting η_{n+1} in (1.2) by η_{n-1} and η_{n-1} in (1.5) by η_{n+1} .

Consider the case c). There exists $(\lambda_0, \mu_0) \in [a_1, b_1] \times [a_2, b_2]$ such, that $d > 0$ or $d < 0$. Let us suppose at first, that $d < 0$. It is easy to see that for each m

$$P_{\lambda_0, \mu_0} \{ 0 > \alpha'_1 \eta_{m+1} + \alpha'_2 X_{\eta_m} + m, \alpha'_1 t + \alpha'_2 X_t + 0 \text{ for } 0 < t < \eta_m \} = \tilde{\tilde{s}}(m) > 0.$$

For each $n > m$ we have

$$P_{\lambda_0, \mu_0} \{ \tau > \eta_n \} \geq \tilde{\tilde{s}}(m) P_{\lambda_0, \mu_0} \{ Z_{m+1} - Z_m < m, \dots, Z_n - Z_m < m \} \geq \tilde{\tilde{s}}(m) P_{\lambda_0, \mu_0} \{ |Z_{m+1,m}| < m - d, \dots, |Z_{n,m}| < m - (n-m)d \}.$$

Further, as above, we get $P_{\lambda_0, \mu_0}\{\tau = +\infty\} > 0$. Let $d > 0$. It is easy to see that for each $m > 1$

$$P_{\lambda_0, \mu_0}\{0 < \alpha'_1 \eta_{m-1} + \alpha'_2 X_{\eta_m} - m, \alpha'_1 t - \alpha'_2 X_t \neq 0 \text{ for } 0 < t < \eta_{m-1}\} = \tilde{s}(m) > 0.$$

Further in an analogous way as above, we get $P_{\lambda_0, \mu_0}\{\tau = +\infty\} > 0$. It completes the proof of Theorem 1.

It is not difficult to see that some cases in Theorem 1 may be considered without using $\{\eta_n\}_{n \geq 1}$ (see [5, Theorem 3]).

Using the methods from Theorem 1 one can easily get the following

Corollary 1.1. *Let $\tau_0 := \inf\{t : t > \eta_2, \alpha_1 N_t + \alpha_2 X_t + \alpha_3 t + \alpha_4 \leq 0\}$ and let $\alpha_1 \lambda_0 + \alpha_2 \lambda_0 / \mu_0 + \alpha_3 > 0$. Then $P_{\lambda_0, \mu_0}\{\tau_0 = +\infty\} > 0$.*

Definition 1.1. *A sequential plan (τ, f, h) is called an oblique plan, if τ denotes the moment of the first attaining of the set*

$$(1.7) \quad \{(t, k, x) : t = ak + bx + c\},$$

where $a \geq 0, b \geq 0, c > 0, a + b > 0$.

Definition 1.2. *A sequential plan (τ, f, h) is called efficient, if there exists $[a_1, b_1] \times [a_2, b_2] \subset (0, +\infty) \times (0, +\infty)$ such, that (τ, f, h) is efficient for $[a_1, b_1] \times [a_2, b_2]$.*

Using Corollary 1.1 one can easily get the following

Theorem 2. *Efficient plans may be only the simple plans, inverse plans and oblique plans.*

Let $C_{a,b} := \{(\lambda, \mu) : \lambda \in (0, +\infty), \mu \in (0, +\infty), a\lambda + b\lambda/\mu < 1\}$.

Theorem 3. *The oblique plan is closed for $C_{a,b}$, i. e. $P_{\lambda, \mu}\{\tau < +\infty\} = 1$ for each $(\lambda, \mu) \in C_{a,b}$, where τ denotes the moment of the first attaining of the set given by (1.7).*

Proof. Let $Y_n := n - aN_n - bX_n$. It is sufficient to prove that almost surely $(P_{\lambda, \mu}, (\lambda, \mu) \in C_{a,b})$ for sufficiently large n we have $n - aN_n - bX_n > c$. From the law of the iterated logarithm we have

$$(1.8) \quad P_{\lambda, \mu}\{\liminf_n \frac{Y_n - (1 - a\lambda - b\lambda/\mu)n}{\sqrt{D_{\lambda, \mu} Y_1 2n \ln \ln n}} = -1\} = 1.$$

Let $\varepsilon > 0$. From (1.8) we obtain that

$$P_{\lambda, \mu}\{\exists n_0, \forall n > n_0 : Y_n > n(1 - a\lambda - b\lambda/\mu) - (1 + \varepsilon)\sqrt{D_{\lambda, \mu} Y_1 2n \ln \ln n}\} = 1.$$

From the facts that $\sqrt{2n \ln \ln n} / n \xrightarrow{n \rightarrow \infty} 0$ and $a\lambda + b\lambda/\mu < 1$, it follows $P_{\lambda, \mu}\{\exists n_1 > n_0, \forall n > n_1 : Y_n > c\} = 1$, which ends the proof of Theorem 3.

Suppose that the oblique plan (τ, f, h) is efficient for (λ, μ) . Then from $E_{\lambda, \mu} N_\tau = \lambda E_{\lambda, \mu} \tau, E_{\lambda, \mu} X_\tau = \mu E_{\lambda, \mu} X_\tau$ (see [5]) we have

$$(1.9) \quad E_{\lambda, \mu} \tau = c / (1 - a\lambda - b\lambda/\mu).$$

Of course from (1.9) we have, that (τ, f, h) is not efficient for (λ, μ) , when $(\lambda, \mu) \notin C_{a,b}$.

Theorem 4. *The oblique plan is efficient for $C_{a,b}$. The only efficiently estimable functions are*

$$(1.10) \quad h(\lambda, \mu) = \frac{\alpha\lambda + \beta\lambda/\mu + \gamma}{1 - a\lambda - b\lambda/\mu} + \delta$$

and their only efficient estimators are

$$(1.11) \quad f(u) = \alpha k/c + \beta x/c + \gamma t/c + \delta.$$

Consider the following compound Poisson process $X_t^h := \sum_{i=1}^{N_t} \xi_i^h$, $h > 0$, where $P\{\xi^h = j\} := P\{\xi \in [(j-1)h, jh)\}$, $j = 1, 2, \dots$. It is easy to see, that

$$\frac{dP_{\lambda, \mu, t}^h}{dP_{1, 1, t}^h} = \lambda^{N_t} e^{-\lambda t} (1 - e^{-\mu h})^{N_t} e^{-\mu h(X_t - N_t)} [e^{t+h(X_t - N_t)} (1 - e^{-h})^{-N_t}],$$

where $\{P_{\lambda, \mu, t}^h\}_{t \geq 0}$ are the restrictions of $P_{\lambda, \mu}$ on $\{\sigma(X_s^h, s \leq t)\}_{t > 0}$. Of course (see [5]), there exists a σ -finite measure ν_τ^h on $(V = [0, +\infty) \times \mathcal{N} \times \mathcal{N}, B_V)$ such, that

$$(1.12) \quad P_{\lambda, \mu}\{(\tau, N_\tau, X_\tau^h) \in A\} = \int_A \lambda^i e^{-\lambda t} (1 - e^{-\mu h})^i e^{-\mu h(j-i)} d\nu_\tau^h(t, i, j),$$

where $A \in B_V$ and τ is a Markov stopping time, such that $P_{\lambda, \mu}\{\tau < +\infty\} = 1$. Let $\tau_1 := \inf\{t : aN_t + bhX_t^h + c = t\}$, where a, b, c as in (1.7). Of course, for each h we have

$$(1.13) \quad \tau_1 \geq \tau, \quad hX_{\tau_1}^h \geq X_\tau, \quad N_{\tau_1} \geq N_\tau,$$

almost surely with respect to $P_{\lambda, \mu}$ for each $(\lambda, \mu) \in (0, +\infty) \times (0, +\infty)$, where τ denotes the moment of the first attaining of the set given by (1.7) for the process $\{X_t\}_{t \geq 0}$. Further we shall show that for each $(\lambda_0, \mu_0) \in \tilde{C}_{a, b}$ there exists h such, that

$$(1.14) \quad E_{\lambda_0, \mu_0} \tau_1^k < +\infty, \quad E_{\lambda_0, \mu_0} N_{\tau_1}^k < +\infty, \quad E_{\lambda_0, \mu_0} (X_{\tau_1}^h)^k < +\infty, \quad k = 1, 2, \dots$$

Let $P_{i, j}(c) := P_{\lambda, \mu}\{(N_{\tau_1}, X_{\tau_1}^h) = (i, j)\}$, $j \geq i$, $i = 1, 2, \dots$. It is easy to see that

$$(1.15) \quad p_{i, j}(c + \Delta c) = e^{-\lambda \Delta c} p_{i, j}(c) + \lambda \Delta c e^{-\lambda \Delta c} \sum_{s=1}^{j-i+1} p_{i-1, j-s}(c + a + bhs) e^{-\mu h(s-1)} (1 - e^{-\mu h}) + o(\Delta c)$$

From (1.15) we obtain

$$(1.16) \quad p_{i, j}'(c) = -\lambda p_{i, j}(c) + \lambda \sum_{s=1}^{j-i+1} p_{i-1, j-s}(c + a + sbh) e^{-\mu h(s-1)} (1 - e^{-\mu h}), \quad j \geq i, \quad i = 1, 2, \dots$$

$$p_{0, 0}'(c) = -\lambda p_{0, 0}(c)$$

with initial conditions $p_{0, 0}(0) = 1$, $p_{i, j}(0) = 0$, $j \geq i$, $i = 1, 2, \dots$. The equality (1.12) shows that the solution of (1.16) is of the form

$$(1.17) \quad p_{i, j}(c) = \lambda^i e^{-\lambda(ai + bhj + c)} (1 - e^{-\mu h})^i e^{-\mu h(j-i)} q_{i, j}(c),$$

where $q_{i, j}(c)$ does not depend on (λ, μ) . From (1.16) and (1.17) we get

$$(1.18) \quad q_{i,j}(c) = \sum_{s=1}^{j-i+1} q_{i-1, j-s}(c+a+sbh), \quad j \geq i, \quad i=1, 2, \dots$$

$$q_{0,0}(c) = 1, \quad q_{i,j}(0) = 0, \quad j \geq i, \quad i=1, 2, \dots, \quad c \in (0, +\infty).$$

It is easy to show by induction that $q_{i,j}(c) = (j-1)! c(c+ai+bhj)^{j-1} / ((j-i)! (i-1)! i!)$, $j \geq i$, $i=1, 2, \dots$, i. e.

$$(1.19) \quad p_{i,j}(c) = \lambda^i e^{-\lambda(ai+bhj+c)} (1 - e^{-\mu h})^j e^{-\mu h(j-i)} (j-1)! c(c+ai+bhj)^{j-1} / (j-i)! (i-1)! i!$$

$$p_{0,0}(c) = e^{-\lambda c}, \quad c \in (0, +\infty), \quad j \geq i, \quad i=1, 2, \dots$$

Let $(\lambda_0, \mu_0) \in C_{a,b}$. It follows that there exists h_1 such, that for each $h \leq h_1$ we have $a\lambda_0 + b\lambda_0/\mu_0 + h\lambda_0/\mu_0 < 1$. In an analogous way as in Theorem 3 one can easily show, that for each $h \leq h_1$ we have $P_{\lambda_0, \mu_0} \{ \tau_1 < +\infty \} = 1$. To show that! (1.14) holds true, it suffices to show that for (λ_0, μ_0) there exists h , $h \leq h_1$ such, that

$$(1.20) \quad \limsup_{i+j \rightarrow \infty} [p_{i,j}(c)]^{1/(i+j)} < 1.$$

Let us find all boundary points of the set $P := \{ [p_{i,j}(c)]^{1/(i+j)} : j \geq i, i=1, 2, \dots \}$. Let $i+j \rightarrow \infty$ in such way, that $i/(i+j) \rightarrow r$, where $r \in [0, 1/2]$. Applying the Stirling's formula $n! \sim (2\pi)^{1/2} n^{n+1/2} e^{-n}$, one can easily see, that

$$\begin{aligned} \lim_{i+j \rightarrow \infty} [p_{i,j}(c)]^{1/(i+j)} &:= \varphi_h(r) \\ &= \lambda^r e^{-\lambda[ar+bh(1-r)] - \mu h(1-2r)} (1 - e^{-\mu h})^r [ar+bh(1-r)]^r e^r (1-r)^{1-r} (1-2r)^{1-2r} r^{2r}. \end{aligned}$$

It is easy to see, that $\{ \varphi_h(r) : r \in [0, 1/2] \}$ is the set of all boundary points of the set P . Let us fix r and consider $\varphi_h(r)$ as a function of (λ, μ) . Obviously $\varphi_h(r)$ has max only at

$$(1.21) \quad \lambda^* = r/(ar+bh(1-r)), \quad \mu^* = [\ln(1-r)/(1-2r)]/h, \quad r \in (0, 1/2),$$

and that max equals 1. The equalities in (1.21) may be obtained for instance from $\partial \varphi_h(r, \lambda, \mu) / \partial \lambda = 0$, $\partial \varphi_h(r, \lambda^*, \mu) / \partial \mu = 0$. Consider

$$(1.22) \quad a\lambda^* + b\lambda^*/\mu^* = \{ a + bh / [\ln(1-r)/(1-2r)] \} / (a + bh(1-r)/r).$$

Investigating (1.22), one can easily see, that there exists h_2 , $h_2 < h_1$ such that for each $r \in (0, 1/2)$ we have $a\lambda^* + b\lambda^*/\mu^* > a\lambda_0 + b\lambda_0/\mu_0$. It follows that for each $r \in [0, 1/2]$ we have $\varphi_{h_2}(r, \lambda_0, \mu_0) < 1$. Because $\varphi_h(r)$ is a continuous function (with respect to r), defined on a compact set, it follows that for (λ_0, μ_0) (1.20) holds true, when $h = h_2$.

Proof of Theorem 4. We have that

$$(1.23) \quad t = ak + bx + c$$

almost surely with respect to v_τ . But (1.23) gives the only linear dependence between t, k, x almost surely with respect to v_τ , which follows as one can easily see from that for each k_1 and $[x_1, x_2] \subset (0, +\infty)$ we have $v_\tau \{ (t, k, x) : k = k_1, x \in [x_1, x_2], t = ak + bx + c \} > 0$. From [5, Theorem 2] it is easy to see, that a necessary condition for that f is efficient estimator is

$$(1.24) \quad f(u) = \alpha k + \beta x + \gamma t + \delta,$$

where $\alpha, \beta, \gamma, \delta$ are real numbers. We shall show that this condition is sufficient.

From (1.13) and (1.14) it follows, that the regularity conditions (2.6) and (2.7) in [5] hold, when τ is the moment of the first attaining of the set given by (1.7) and f is of the form (1.24). Let $U_1 := N_\tau/\lambda - \tau, U_2 := N_\tau/\mu - X_\tau$, where τ denotes the moment of the first attaining of the set given by (1.7). From (1.23) we have $U_1 = (1/\lambda - a)N_\tau - bX_\tau - c, U_2 = N_\tau/\mu - X_\tau$. But for $(\lambda, \mu) \in C_{a,b}$ we have

$$(1.25) \quad \begin{vmatrix} 1/\lambda - a, & -b \\ 1/\mu & , & -1 \end{vmatrix} = (a\lambda + b\lambda/\mu - 1)/\lambda \neq 0.$$

From (1.25) it follows that the estimators given by (1.24) can be represented as a linear function of U_1, U_2 and from [5, Theorem 2] we get, that they are efficient. We can get (1.10) and (1.11) using (1.9). It completes the proof of Theorem 4.

2. The case, when ξ has a common exponential distribution. Definition 2.1. *By a common exponential distribution we shall mean any distribution which density function is given by the formula (see [4])*

$$(2.1) \quad p(x, Q) = \psi(x) \exp[\omega_1(Q) + \omega_2(Q)x], \quad x \in R,$$

with respect to a σ -finite measure, where $Q \in L \subset R$ and L is the widest set for which (2.1) has sense.

We shall suppose that

- 1) $\omega_1(Q)$ and $\omega_2(Q)$ are twice continuously differentiable in L ,
- 2) The derivative $\omega'_2(Q)$ is strictly positive for all Q ,
- 3) $\omega'_1(Q)/\omega'_2(Q)$ is strictly decreasing in the whole L .

In the sequel we suppose, that for all $Q \in L$ the relation $-\omega'_1(Q)/\omega'_2(Q) = Q$ holds. We shall suppose, that ξ has a common exponential distribution. Under the above assumption we have (see [4]) $E_Q \xi = Q, D_Q \xi = 1/\omega'_2(Q)$. It is easy to see, that there exists a σ -finite measure ν_τ on $(U = [0, +\infty) \times \mathcal{N} \times R, B_U)$ independent of (λ, Q) such, that

$$P_{\lambda, Q}\{(\tau, N_\tau, X_\tau) \in A\} = \int_A \lambda^k e^{-\lambda t} e^{k\omega_1(Q) + x\omega_2(Q)} d\nu_\tau(t, k, x),$$

where $A \in B_U$ and τ is a Markov stopping time such, that $P_{\lambda, Q}\{\tau < +\infty\} = 1$.

We shall suppose that the function $h(\lambda, Q)$ and the estimator f satisfy the same regularity conditions as those in [5]. In the same way as it is done in [5] we can obtain

$$D_{\lambda, Q} f \geq \{[\lambda h'_\lambda(\lambda, Q)]^2 + [h'_Q(\lambda, Q)]^2/\omega'_2(Q)\}/\lambda E_{\lambda, Q} \tau.$$

Equality holds at (λ_0, Q_0) , if and only if there exist constants β and γ , not both zero, such that $f(u) - h(\lambda_0, Q_0) = \beta(k/\lambda_0 - t) + \gamma(Q_0 k - x)$.

Definition 2.1. *A sequential plan (τ, f, h) is called an oblique plan, if τ denotes the moment of the first attaining of the set $\{(t, k, x): t = ak + bx + c\}$, where*

- 1) $a > 0, b = 0, c > 0$ if $P_Q\{\xi > 0\} > 0$ and $P_Q\{\xi < 0\} > 0$;
- 2) $a \geq 0, b \geq 0, c > 0, a^2 + b^2 > 0$ if $P_Q\{\xi \geq 0\} = 1$;
- 3) $a \geq 0, b \leq 0, c > 0, a^2 + b^2 > 0$ if $P_Q\{\xi \leq 0\} = 1$.

Let $C_{a,b} := \{(\lambda, Q) : \lambda \in (0, +\infty), Q \in L, a\lambda + b\lambda Q < 1\}$.

Strictly in the same way as it is done in [5] and in the first part of this paper we can get the following theorems:

Theorem 5. *Efficient plans may be only the simple plans, inverse plans and oblique plans.*

Theorem 6. *The simple and inverse plans are efficient for $(0, +\infty) \times L$. The oblique plans are not efficient for any (λ_0, Q_0) , which does not belong to $C_{a,b}$. The oblique plans are efficient for $C_{a,b}$. The following are the only efficiently estimable functions*

a) *for a simple plan $h(\lambda, Q) = \alpha\lambda + \beta\lambda Q + \delta$ and $f(u) = \alpha k/t_0 + \beta x/t_0 + \delta$ is its only efficient estimator;*

b) *for an inverse plan $h(\lambda, Q) = \alpha/\lambda + \beta Q + \delta$ and $f(u) = \alpha t/k_0 + \beta x/k_0 + \delta$ is its only efficient estimator;*

c) *for an oblique plan $h(\lambda, Q) = (\alpha\lambda + \beta\lambda Q + \gamma)/(1 - \alpha\lambda - b\lambda Q) + \delta$ and $f(u) = \alpha k/c + \beta x/c + \gamma t/c + \delta$ is its only efficient estimator.*

3. Conclusions. The methods used in this paper and in [5] are rather general and can be applied successfully to determining the efficient plans of many processes. In particular, it is not difficult to show that it holds true for the processes investigated in [1-4; 6].

Acknowledgment. For the introduction into the theory of efficient sequential estimation the author is grateful to S. Trybula.

REFERENCES

1. Bai Do Sun. Efficient estimation of transition probabilities in Markov chain. *Ann. Statist.*, **3**, 1975, 1305-13017.
2. B. R. Bhat, N. V. Kulkarni. On efficient multinomial estimation. *J. Roy. Statist. Soc. Ser. B*, **28**, 1966, 45-52.
3. M. H. De Groot. Unbiased sequential estimation for binomial populations. *Ann. Math. Statistics*, **30**, 1959, 80-101.
4. J. Frantz, R. Magiera. On sequential plans for the exponential class of processes. *Zast. Mat.*, **16**, 1978, 153-162.
5. V. Stefanov. Sequential estimation for compound Poisson process, I. *Serdica*, **8**, 1982, 183-189.
6. S. Trybula. Sequential estimation in processes with independent increments. *Dissert Math.*, **60**, 1968.
7. Г. Роббинс, Д. Сигмунд, И. Чао. Теория оптимальных правил остановки. Москва 1977.

Centre for Mathematics and Mechanics
1090 Sofia P. O. Box 373

Received 3. 6. 1980